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Ostwaldcolour green G, A1 70 )\2—570 A¢=520

triangle lightness 1" 1ug

R(A) standard reflection, Ry=0,036,R,=0,900
Ostwaldcolour: yellow Y, ;=495 ;=700 Ag=570
triangle lightness  T"Tup

00 500
wavelengthA /nm

R(M) standard reflection, Ry=0,036,R,=0,900
optimal colour: white W, A=400 , 0,
triangle lightness T+ tup

1,00§

00 500 600
wavelengthA /nm

R(A) standard reflection, R,=0,036,R,,=0,900
Ostwaldcolour blue B, 11400 \>=495 \¢=470
triangle ightness 1" Tup

1,004

00 500
wavelengthA /nm
=

R(A) standard reflection, R,=0,036,R,=0,900
Ostwaldcolour: red R, =570 , 95
Triangle lightness 1+ ug

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: green G,\1=470 A,=570 \¢=520
Rr(A) triangle lightness  T*Tug

6,00% 4.999

00 500
wavelengthA /nm

R(A) standard reflection, Ry=0,036,R4=0,900
Ostwaldcolour: magenta M, ;=570 ,A;=470 ,A4=520¢c
ROV triangle lightness  1*us

=
Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: cyan C,A;=400 A,=570 ,A4=495
triangle lightness  T*rug.

R(A)

standard reflection, R,=0,036,R,=0,900

Ostwaldcolour: green G,A;=470 ,\,=570 \¢=520
R

1,001

wiangle lightness  T*ug

Ostwaldcolour: cyan C,A;=40(
RO\

standard reflection, R,=0,036,R,=0,900

A2=570 Ag=495
triangle ightniess 1" 1ug

I E70

00
wavelength)\ /nm
=y

600

standard reflection, R,=0,036 R,=0,900
Ostwaldcolour: yellow Y, \=495 A;=700 A¢=570
ROV triangle fightness T Tug

R(A)
optimal colour: whnew A]—ADO a
ROA rangle Tightness. T rup

1,001

R(A) standard reflection, R,
Ostwaldcolour: blue B, A= 400 >\ 495 A=470
ROV iangle Tghtness. T rup

1,00§

00 500
wavelengthA /nm
DEXOL-GA

with N reflection
standard reflection
0,036<=R(A)<=0,900

T*rys=40log[R:(A)]/log5

Nuo
R(A) standard reflection, Ry=0,036,R4=0,900

Oslwaldcolour red R, A;=570 ,A,=700 \¢=5!
triangle lightness  1* tus

1,001

0,75

02540,

0,0

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
Oslwaldco lour: green G,A1=470 A;=570 =520
triangle lightness  T*Tug

0,8

DEX01-1A

R(A) standard reflection,
Ostwaldcolo 1=570 \p=470 , 0
R(N) triangle ightness  1*1ug

1,001
0,75

0,504

log[Rr(A)] = log[R(A)/0,18] reﬁectlon (log)
Ostwaldcolour: cyan C,A,=400 0 Ag=495
Ri(A) u
0,8

00 500
wavelengthA /nm

DEXoI-cA
without N reflection
standard reflection

0,036<=R(A)<=0,900

T*rus=40logR (A)])/log5

DEX01-7N

V L o Y M
http://farbe.li.tu-berlin.de/DEXO/DEXOLONA.TXT /.PS; only vector graphic VG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: yellow Y, ;=495 ;=700 Ag=570
Re(\) triangle lightness  T*tus
6,00f 4.999

3,001

1,0

(A) =R(1)/0,18 relative reflection
optimal colour: white W, A:=400 ,A;=700 A¢=—
triangle lightness T*Tug

6,001

R,(A) R(A)/0,18 relative reflection
Ostwaldcolour: blue B, A1=400 A,=495 A\¢=470

6,001

3,004

00 500
wavelengthA /nm
=

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour yellow Y, A\=495 A»=700 A¢=570
triangle lightness  T*Tup

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
uptimal culuur white W, A1=400 ,A;=700 Ag=—
triangle lightness  T*up
0,8} 0. 698

0,000 l l

A) = log[Rr(A)] = log[R())/0,18] reflection (log)
Ostwaldcolour: blue B, A1=400 1,495 \¢=470
Rs(A)

400 500
wavelengthA /nm
QoA

TUB-test chart DEXO; Wavelength ranges ddstwaldcolours, and Wn,CC—25 1
ReflectionsR(A), Rr(A)—R()\)IO,18,Rs()\)—log[Rro\)], triangle Ilghtnesé' *TuB, Step eRYGCBMwO
] M Y [0) L \Y

triangle lightness T‘run .

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: red R, A1=570 A2=700 \¢=595

Rr(A) triangle lightness  T*7ug [§

00 500 600
wavelengthA /nm

Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: magenta M, ;=570 A;=470 ,A4=520¢c
triangle lightness  T*7ug

0 500
wavelengthA /nm

DEX0L-6A
without N reflection
standard reflection
0,036<=R(A)<=0,900
relative reflectlon

Rr(A\)=R(A)/0,1
T TUB—40Iog[R (M)]/log5

Rs(A) = log[Rr(M)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: red R, A;=570 A;=700 \¢=595

0,8

0,4

triangle lightness  T*Tug [k

00 500
wavelengthA /nm

=lo ()] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: magenta M,A1=570 ,A,=470 A¢=520c
Re(A) triangle lightness  T*Tus

0,8

0,4

standard reflection
0,036<=R(A)<=0,900
log[relative reflectio
Rs()\)-log[R(}\)IO 18]
T*rug=40l0g[R:(A)]/log5
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